ZIKEDA

Mais verde na terra!

www.ikedamagqg.com.br

OBSERVACOES:

REV. : [ ApRovADO: RICARDO C

PROJETO: RAFAEL A.

00 [vigewo 2200571k

DESENHO: rufuet.ulvey




zIKEDA

Mais verde na terra!

REF COD. ESTRUTURA TiTULO aT.
1 0242.001 PINO ARGOLA 7/16"X1.4/2" 4
2 0901142 PINO DO ENGATE 1"X160mm 3
3 0215016 ETIQUETA DE ALUMINIO 1
4 0241003 REBITE REPUXO ®4x8mm (T408) 2
5 0233054 PORCA SEXTAVADA C/ INSERTO DE NYLON 3/4" UNC 10
6 09.02125 CHASSI - MFSLM 1
7 0217.003 02.17.003 - Adesivo Shock Control 5
8 0238003 ARRUELA DF PRESSAO 95/8" PESADA 78 5
9 0233015 PORCA SEXTAVADA 5/8" LEVE 5
10 0233060 PORCA SEXTAVADA C/ INSERTO DE NYLON 1 UNC (BAIXA 195MM) | 11
1 0217.002 0217.002 - ADESIVO IKEDA 1
2 09.02.069 FUSTE AIV-M (PADRAO) 5
3 0238002 ARRUELA DF PRESSAO ¢3/4" 10
1k 023301 PORCA SEXTAVADA 3/4" LEVE 10
15 09.01001 AIVECA INF. LISA T/ RABICNHO CURTO COMPLETO 4
1 0901005 AIVECA INF. LISA T/ RABICNHO LONGO COMPLETO 1
17 0220020 PARAF SEXTAVADO 3/4"X3" NC 10.9 ROSCA PARCIAL EM 1" 78 15
18 0219.057 PARAF SEXTAVADO 3/4"X3.1/2" RP 5
9 0902019 BASE INFERIOR SHOCK-CONTROL MF-MOLA 5
20 0220021 PARAF SEXTAVADO 1°X3" NC 8,8 ROSCA PARCIAL DE 1" ZB 10
2 09.02.093 SHOCK CONTROL AIV S/ BASE INF. 5
2 0901199 RODA DE PROFUNDIDADE [/ SUPORTE MF/HD SF 1
23 0220.004 PARAF SEXTAVADO 1X3:1/2" [/ ROSCA PARCIAL UNC 109 7B 1
2k 09.01035 ARRUELA DF PRESSAO @ 1" ZINCADA 1
25 0233002 PORCA SEXTAVADA 1" PESADA 1
26 09.02.063 DESCANSO MF-M 1
27 0902076 PINO DE ENGATE DO CONJUNTO 00 ROLO 1
28 0220002 PARAF. SEXTAVADO 1 x 3 NC 109 ROSCA PARTIAL 1
29 0217.024 0217.024 - Adesivo MFLM 1
30 0220008 PARAF SEXTAVADO 5/8°X3" 10.9 5

www.ikedamaq.com.br

OBSERVACOES:

REV.:

00

APROVADO: RICARDO C

PROJETO: RAFAEL A.

vienca 22/05/14

DESENHO: rufueLulvey




ZIKEDA |

Mais verde na terra! www.ikedamag.com.br

REF C0D. ESTRUTURA TiTULO aTo.
1 0233017 PORCA SEXTAVADA 7/16" PESADA 5
2 0238005 ARRUELA DE PRESSAD $7/16" 5
3 023701 ARRUELA LISA ®7/16" 10
4 09.01214 TRAVA DA BACIA LISA 1
5 09.01004 AIVECA LISA INFERIOR 1
6 0224007 PARAF LAMINA 7/16"X11/4" 10,9 ROSCA TOTAL 2
7 0224006 PARAF LAMINA 7/16"X1.1/2" 12,9 ROSCA TOTAL 3
8 0901761 RABICHO LONGO INFERIOR LISO 1
9 0224001 PARAF LAMINA 1/2"X13/4" 12,9 ROSCA TOTAL 5
10 0238004 ARRUELA DE PRESSAQ $1/2" PESADA ZB 5
1 0233005 PORCA SEXTAVADA /2" BSW 12F PESADA 5
12 09.01094 CORPO LISO INFERIOR 1
3 09.01221 UNIAQ DA BACIA/LAMINA AN-L 1
1 0901132 LAMINA LISA INFERIOR 1
5 0237004 ARRUELA LISA ¢1/2" 3

REV. : | APRovADO: RICARDO C PROJETO: RAFAEL A.

OBSERVACOES:

00 VIGENCIA 22/0514 DESENHO: rufueLuLves)




ZIKEDA

Mais verde na terra! www.ikedamag.com.br

REF C0D. ESTRUTURA TiTULO aTo.
1 0233017 PORCA SEXTAVADA 7/16" PESADA 5
2 0238005 ARRUELA DE PRESSAD $7/16" 5
3 023701 ARRUELA LISA ®7/16" 10
4 09.01214 TRAVA DA BACIA LISA 1
5 09.01004 AIVECA LISA INFERIOR 1
6 0224007 PARAF LAMINA 7/16"X11/4" 10,9 ROSCA TOTAL 2
7 0224006 PARAF LAMINA 7/16"X1.1/2" 12,9 ROSCA TOTAL 3
8 09.01155 RABICHO CURTO INFERIOR LISO 1
9 0224001 PARAF LAMINA 1/2"X13/4" 12,9 ROSCA TOTAL 5
10 0238004 ARRUELA DE PRESSAQ $1/2" PESADA ZB 5
1 0233005 PORCA SEXTAVADA /2" BSW 12F PESADA 5
12 09.01094 CORPO LISO INFERIOR 1
3 09.01221 UNIAQ DA BACIA/LAMINA AN-L 1
1 0901132 LAMINA LISA INFERIOR 1
5 0237004 ARRUELA LISA ¢1/2" 3

REV. : | APRovADO: RICARDO C PROJETO: RAFAEL A.

OBSERVACOES:

00 VIGENCIA 22/0514 DESENHO: rufueLuLves)




ZIKEDA |

Mais verde na terra!

OOOOOOOOO&
\
X

‘0000000&0&
A\
<

www.ikedamag.com.br
Ref | Cod. Estrutura Titulo Qtd
1 0233002 | PORCA SEXTAVADA 1" PESADA 1
2 0238.001 ARRUELA DE PRESSAQ @1 1
3 0220.004 | PARAF SEXTAVADO 1"X3.1/2" C/ ROSCA PARCIAL UNC 109 2B | 1
b 09.01205 | SUPORTE MF-5/HD- S/ RODA DE PROFUNDIDADE 1
5 09.01200 SUPORTE DA RODA DE PROFUNDIDAGE MFD-HD SEM CUBO 1
6 0253.002 | RETENTOR 1100 BAG 1
7 0252017 | CONE ROLAMENTO 48548 - PL 1
8 0252015 CAPA ROLAMENTO 48510 - PL 1
9 09.01.099 CUBO DE RODA PROF. MF-HD 5 FURQS 1
10 0254001 | GRAXEIRA /4" (ALEMITE) 1
" 09.01100 CUBO DE RODA PROF. MF/HD 5 FURGS 1
12 0226.002 | PARAFUSO CRAVD 9/16" x 13/4" 5
3 0252016 | CAPA ROLAMENTO 67010 - PL 1
1 0252018 CONE ROLAMENTO 67048 - PL 1
15 0237012 [ ARRUELA LISA 7-8 1
16 0232007 | PORCA CASTELO 7-8 UNF 1
17 0242004 | CONTRA PINO 5-32 x 11-2 1
18 09.01208 | TAMPA DO CUBO RODA DE PROFUNDIDADE MF-HD SF 1
9 09.01197 | RODA ARO 14 - 5 FUROS C/ PNEU E BICO 1
20 0251004 PNEU 735 - 14 1
2 0251022 [ RODA ARD 14 - 5 FUROS 1
22 0251010 | BICO P/ PENU S/ CAMARA 1
23 0235002 | PORCA CONICA 9/16" 5

OBSERVACOES:

REV. : | APRovADO: RICARDO C PROJETO: RAFAEL A.
01 VIGENCIA: 22/0514 DESENHU:I‘ElfllEL[JLVESJ




ZIKEDA |

Mais verde na terra!

" v

<
)

7
Q

AN
\\\
pd

www.ikedamag.com.br

N

i

[
REF COD. ESTRUTURA TiTULO aro.
1 0902071 GUIA DA MOLA SHOCK-CONTROL 1
2 0902022 BRACO DO SHOCK-CONTROL (PADRAD) 1
3 0902075 MOLA PARA FUSTE 3534 PINTADD 1
4 0902042 CHAPA DA MOLA SHOCK-CONTROL 1
5 0233052 PORCA SEXTAVADA COM INSERTO DE NYLON 5/8" N 1
6 0902028 BRAGO SUPERIOR SHOCK CONTROL 1
7 0902024 BRAGO INFERIOR SHOCK CONTROL 1
8 0902078 PINO DO BRACO DO SHOCK CONTROL TEMPERADO S/ USINAGEM 2
9 0902027 BRAGO INTERMEDIARIO DIRT/ESQ. SHOCK CONTROL 1

OBSERVACOES:

REV. : | APRovADO: RICARDO C

PROJETO: RAFAEL A.

00 VIGENCIA: 221051

DESENHO: rufueLuLvesJ




zIKEDA

Mais verde na terra!

www.ikedamaq.com.br

REF C0D. ESTRUTURA TiTULO aTo.
1 0220009 PARAF SEXTAVADO 7/8"X3" 10,9 ROSCA INTEIRA 1
2 0902017 BASE INF. SHOCK CONTROL S/ PINTURA 1
3 0233022 PORCA SEXTAVADA 7/8" UNC LEVE 1

OBSERVACOES:

REV.:

00

APROVADO: RICARDO C PROJETO: RAFAEL A.

VIGENCIA

221051 DESENHO: rufueLulveJ




